Spink S403E IRIZBFR BT A

EA)

07 2% (4e-3) x4 26-¢-11=0--Q
() C=) ONCE

,' | -2 -4
(ONF D)= 2008 %A~ 10 = (202 ) 20+7) 2% S 5
l

= (205 ) 7-2)

g o &

" P >
NAOLY (L S kR

(2) C=20CT,
0L 2x58%-5=0
o o St T-42(5)  5ies

42 4
0(:\5“[6_5.. Zﬁ;‘;'{
4
o c.4 20(-5-465 )

o T T SiNeSs ~(::;_fv"gﬂ‘;)(f

~0(5465 ) 20 (5465 )

25-6% —4-0
_ostdes Al
2, WA

= Y AR AR 565 <q

e 13<E+465C )4 4;:5\_2’3_<5-;@<r7
5‘14707:]<7

A
(T, m=6,

| &l 6¢



(43 g 2 )
22
& xs "(4C2)im
- 'I/M‘“"fﬁfiﬁf?‘ ” nﬁv Yyt -16+97>0
d-7, r< é
le{jﬁm‘%ﬁfvf\,gs C:1,2.3,4.56
20 ~1604q0 4= (BIE S IR YL

(3 @ﬂ(&ﬂ\i %:

léﬂ '5’7 S“I }
JR———— ““rf  SR—— ,,+'4
9 7?

£ 01036 o yiTes BaE 3B 2]

0% hLiw 1 HL sMASO
1.
siv b= Ji-cosh=y) 1= (2)

:@‘rgz% %j

— N

AAB C:%,&CS|([/1A :_\2_,6 5_{‘"_

S
12 ]

7 OAT=360" Go'x2-A= IB-A L
stu (19 A)=sm A 545

ANED< L AT AD sin(10-A) = 3 desin= 12, 7]
(2 )‘Sl‘ Ja- 5’3: O\Z—«&‘z— CZ\H &,
ARBCT 475 TR T RILT
0= 4% C-2bccosh
e G




@: (’&EFCY‘Z'&CCWSA-)—/&\‘-(Z: _.?.&(mr)A
0Ny e Cosh>0, TR, b>0, c>03*)
@<O . *\Z,EIJ@

D=9 T coshA=0. Ot;(jlf;_@_#

WA pes cospen IHTENIT O
(3) Ti= KC)\HA Ve -CﬁSMB Z-Torfmuc

AABCO 91 R 0¥ EFFR LTS,

l,_fft/\fr—ierl
\ A ‘ C
stufs A sk sinC—=—
- 2k 2R 2R
5HT
e

\
Tegboor “ag
Rk
A

ahe R C
Tl: AR SRS AR

w1 /1130,

(4) &<A<qfowfbc%A>o.1%gggyggg
0 A et
TP 44C- 2 <ot (i A
=L 2hccos
50, IV a0 & 1D R @
AATD o 535 HoRIZE R, 1 T3¢, %]

X CoS(I80-A)=cosh

_ID L)
5 (18- 2 & ks 25

soapeo N EHO¥X E RS ks
S R>R @\i@

lS\M[)



ABEE, ACGHO 9| ENa¥EE znZil
R, R3Y 3%,
PCACBLC AN ALz, o g g ol iz
v\ I LT
R>R, ROR (, ROR) ©RAGU
ETTTCAYEEY 8T A Ha A

2

T TS AT T AARC 205 D) O

0°¢A<BGY s ROR, RDOR @)
QK<C<JW cos (<0 &HT

“AE>GH o AP GH
B\WC 1§\VIC°

£ R>Rs @
H1, OO B (3)
KA >GH1HIT -
SIETERIRGY
A<t b= 204.005C

NN eV

®
éﬁ OHJ; 20 co5(180-C )

@
57 AESGH & AB>GH
y $ioa!
(3 ) (GoT=) om, 1pd 1Y) 25 EL 0T
AR T2k s T AE (v @

2 Ely e i MM F (), € F 64
tonh o A ; .
Eor g5 fo\f(‘l’z//vﬂym\’



557 Hh- 2 100

Er az
() [£ vﬂ;{/r 'EIJ/L\)~ - % --2

Z==2(X-20%)+4.70

= — 00t 8F0
- o1 £
D)
= = 20(+ ig EA 44
—t]

“‘*? ge-pHtl Z4EEATEL
qgv*“‘*.’ | 4.80=+EE
o i Jped

‘ o i
Oﬁ 20027 4427 L=2,

\
2400 ¢x €=-2240+880=4.0

$7, 2ppsx2.40
—

(#).E7)

Y= A 2ed (o MT B2 w22 FITA T2

Y= o (24 28)= -2+ 88U
=2 (o 4dx )= ~>{(u{—z\z)~‘-2.2’
= =2 (=227 24 74
~ -2 (r-2.2)4 94§

2.00% 5 $2.40 N EE WAEET 1IR30

X=2.20 A (ST B3
i e

—



0EEYHIE 4 Y
Z2-2 220880
~ =4.40+ &%
= 440,
N NOEYEZETE
' (0.3 3
100 10,23 948 J1Do0

9. 68' — 768
\ 3 200
3 G S804
: 2660
290 %
23 — 64
B FL
@ JD\ /{’3 J )990‘”9 jﬁf{@ OANHY
’(NM\J:H.
@ - E_Lu

() 359, 190547 »'5 139057513550
L7V,
@ Eou,

£ ELv

%\3.7‘ /LFQ%L(Z(_J @,@ @,

(2) 98555 Fylvis asy, HE 1T 57 %
T:‘%‘é @ 7]

,c;ygé;fg T T 59, L%K:'J 739,
RRAE (24817758 1555 OD



(3) |
(1) zoI54%0 Ah-FILTIAERTE

KRS B T L 2

(1) 201555 04 F thTv5 (BnFhkl
£~B13) & ADEI LTS

D 200531807 54y B S AR
7 GRBRE) R B (T TRy L 13V 2EL

3.7, %207 (DR (DE M3F6nd

of
(4] 4RN-S0 B E. B oFEH

B A S ) ARG PR LT AT RS
RAELY T ) AN A
v 9%, (B k% E23)

— L 7 ) 0] .

7oy T TEo7 ta 13 Y%7 °

o o

3% e I ETC o
O e

9 o =
O t . !
& LS

Q
(W3, &1 2507 @ [T kws'3.
—

() ¢y (YRR A EHT .
Lt \ N (013YEY, X 1FFTh)
EAZIT Oxx, xox, Y1 O /
7ﬁ§A ) | | 3 @

LA
B A O N N

2 2 22 : -
2 2 2 T )

N|—
[



aB2 (3
OxX¥ ¥OX X¥ O
l22,2v2 22 ) 9
¥331TT Y ?3':%—5:%%
) py - P00K) 23
b 3, 14
LS A ]
_ > l 3 ;/&‘9
2¢ 25 2E 5
2#9
_ 27 [FA
— @J
32
Pu (B)= Pwng) e
PCw) ,i,+
(1) Pwl@): Pw(B)=27:32,
> - 3.4
Qomg% : QMR =T 9
| - 27:32
e (;@
G) 3@k Loy E U 3BAE X,
1%1\127%ﬁ" 3%)‘%(}’: \(
x;s
L | 122 ,,1123
_L, 4T
ety te
L) + 72-‘,/,&;



\
> V(Y =
() 00 E
Po) L2t

S & 2 b
! ?zvzrl -
2/ 8L+ 454929
26 kYS)

ps, B2

?a’w S o RETEA ¥ s YR BB
B, C. DA

3\)7‘0 1J @

-

0 N Ly x“ /!," 9‘)(,1: |
f : (g v.,..\w\\}‘? L oeay=5
2 N T P ica g 2ad
. \éP” T=2 4/):3
P .
b i R

e — 2 1

) so-3y=E O
o=\, Y=~ 13 OF #HT,

557,



/0

5.-30-10=8 - 52311 49
0-6 & A

S (o-1)-3(+\)= 0 e walgEAln e
S{a=-V)-3 V}‘f' 7 5 S.(z)(gf)‘ﬁ-('j)‘dl):(?““@
Sy 3 \3"5_‘111%{‘1\73‘5 Q- @3\»«}

e (B v D

A= ) AR DTH S b (o-2x8)-3 (47328)=0
ST ez AT a3 28,
ShE G AL Y= st 78

53R (rz0e 4= S (4 E7 e X s K
&7,

-2t Y= SR —nd ] o lE 2belblE Fal
DT, RS £4VALT fonls hfir R ST T3,

=705 )41, Y5 (5 -
S g=3hib, Y=5k24
5 yoox3t ik, Yo 3R SR

=l 5
0EYCEeHRT L3, he-4 0CZ
=4, 7]
7= 16-12=4
b2,

BT TUIHE 4+4=g BB T
(8470 BAv AR, Tk pAc4 R K
NI Tu.

(3) (&% B2 2, 2genEA-4E e
&WHJ > 2 /53x =R ‘Lﬁ;ﬂj el
BB

Pr% Py LRT 75%3%*76ﬁ%\

(20, Y)=(),4 )13 BFo 1~ )



¢ PR LT )

but 52=00 &) Fxd 3 20
it SX-2=(1 s ()= (4:3)
ST -4 0 L (i y)=(113)
§0, 48
Pt Sa-ufelz 0LE (1g)=(%0)
Sr-3us 3 ot (ng)= (0]
(12
Py Sr- =120 L3S (v)=(54) N %:am%,\,
Sor-3=-20¢x (y)=(2:4) Ao
2 6zl
Pr¢ . Go3ysldoCE (x0))=(4 .2) 0 b BIH
sa3d= —l s Gef)= (1,2)93 BT
57, 21

LA L+ 25\6' @ Y -_@_[3{3 f.?’ é)ﬂ?%?).

Y50 EERAS
(AABCIT 2D 950 BA=HT)

AD < _32_ ﬁ J— E/IF

2 /\*O\;r 2IE gy

Abr DE= O dC t-,,./\f. -DE= 2 :;?— -
_ Y5 A AT
& VE= 27 75 2



sl g po s AORET DS,

A5 ACLFGEHE
- AP, Apsia LDABEC

-~ \ o QE” > e 2
N vZ"' S Z\‘DA’L' ‘(Z‘?) "5’/\5——; ~T2—*?<3——'—'A]—§
' 2.

- L

| NG
357, AP‘\{“-[‘)?:\FF? AP=is

v

/
PG=FG-FPh Y
T inon B4 -AC=5)

R O S B

Sl (25-d5r)= e (51
-7 )
& o= 57=5rr
2 47 -5r=0
& r(4v-5)=0
_ S
@ 0,23

i 35.0,0 FI-EHLEYT



(3-5)t(4-5)=5
7-25=5
~25= -2
s= =]
S ZROREE A

AAPO =AAPHSY
(=i e 4 vt P VYD
Atz AO= 2 .
(o) AR AB~—~3-~— AB~3~
. » Al
A&A’bew’\s ADBF
- U ) 5= pX' ) 1L ) iy V. '
//\ <0 ,ﬁf_ }ﬁ A6 (A §EL AE:ZJ—E
) ARARE 2
NG -AE = 5 20510
/)/\xﬂ)%/ﬂﬁ\ };7\7“1’ /Q)HJ‘) () &‘%p Y,
éﬁz( @13 @
—t

s A BT O T ART T OEC
oA LS.

(WA k)

|3



